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THOH 2 XH ol 13,200,880 10,602,880 2,598,000
= 8,100,000
< 35,000
Al 5,065,880
TH ol <1 & X = & 12,870,000 10,400,000 2,470,000
= 8,100,000
Al 4,770,000
Chef &8 S 3 AKX SUAS NG FHHIAY 2,300,000 1,000,000 1,300,000
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ESE== g
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THoll 1 & X =2 &

- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= 1,150,000
Al 1,150,000
401 AlEHIZL £ 0HY| 2,300,000 1,000,000 1,300,000
= 1,150,000
Al 1,150,000
01 Al&H| 2,296,000 993,700 1,302,300
OLUY A& SEAMNKX EEX/AEXNE HY|
2,296,000,000 2,296,000
= 1,148,000
Al 1,148,000
03 AlE 21| 4,000 6,300 A 2,300
OAIE 20l 4,000,000 4,000
= 2,000
Al 2,000
S MNSXF EslMEH SE HUIALY 2,250,000 2,000,000 250,000
= 2,250,000
401 Al HI L 2 0HHI 2,250,000 2,000,000 250,000
= 2,250,000
01 Al& H| 2,245,000 2,000,000 245,000
OS2 UBXNT E4+HMEA LA
2,245,000,000 2,245,000
= 2,245,000
03 A2 HH] 5,000 0 5,000
OAlE S0t 5,000,000 5,000
= 5,000
Ctet SAF SEAX SUKFAE XS HHALY 1,600,000 2,400,000 A 800,000
= 550,000
Al 1,050,000
401 AlEHIZL 2 0HY| 1,600,000 2,400,000 A 800,000
2 550,000
Al 1,050,000
01 Al&H| 1,598,000 2,391,360 A 793,360
Ot TAF SZ A SUR/EXNE HH|
1,598,000, 000 1,598,000
= 549,000
Al 1,049,000
03 AlE 201 2,000 8,640 AN6,640
OAI& 20| 2,000,000 2,000
= 1,000
Al 1,000
g Ots - MY SEAMK SUAEXNE HU ALY 4,380,000 400,000 3,980,000
= 2,190,000
Al 2,190,000
401 AlEHIZ 2 0HY| 4,380,000 400,000 3,980,000
= 2,190,000
Al 2,190,000
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 A& HI 4,370,000 397,120 3,972,880
O&E 0ls - 49 SZAX SUAE XS FH|
4,370,000,000 4,370,000
= 2,185,000
Al 2,185,000
03 Al 2 THHI 10,000 2,880 7,120
OAl &= HHI 10,000, 000 10,000
= 5,000
Al 5,000
A A0 SZAX SUASE XS FHIAMY 910,000 200,000 710,000
= 910,000
401 AIEHI L 2 CHYI 910,000 200,000 710,000
= 910,000
01 A& HI 908,500 200,000 708,500
O&d 4o S3AX SUAEX S Hl
908,500, 000 908,500
= 908,500
03 A& =TI 1,500 0 1,500
OAIZ 2 HHI 1,500,000 1,500
= 1,500
da BX MolAS X HHIAS 80,000 0 80,000
401 Al HI K 201 I 80,000 0 80,000
01 A& Bl 80,000 0 80,000
O&& Xl oA X7 HHIAIY AAEHS
s 80,000, 000 80,000
3 NS SZAX SUASE XS FHIAY 300,000 0 300,000
= 150,000
Al 150,000
401 AIEHI L 2] 300,000 0 300,000
= 150,000
Al 150,000
01 A& Bl 298,000 0 298,000
O=23 A= S3AX SUAE XD HUIAS
298,000, 000 298,000
= 149,000
Al 149,000
03 AIE 2 THHI 2,000 0 2,000
OAIZ S THHI 2,000,000 2,000
= 1,000
Al 1,000
=2 2 S3AXA SLUASE XD HH A 200,000 0 200,000
= 100,000
Al 100,000
401 A& HIZ 201 I 200,000 0 200,000
= 100,000
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
Al 100,000
01 A& HI 198,000 0 198,000
O=< 2 23 AMX SUAE XY UM
198,000, 000 198,000
= 99,000
Al 99,000
03 AIE 2 0H bl 2,000 0 2,000
OAl& 2| 2,000,000 2,000
= 1,000
Al 1,000
Chet s SZAMA SUREXNSE ZFHAY 100,000 0 100,000
= 50,000
Al 50,000
401 A& BIZ 201 8I 100,000 0 100,000
= 50,000
Al 50,000
01 A& tl 99,000 0 99,000
ot &= 23 AKX SUAE XA HUIAMY
99,000, 000 99,000
= 49,500
Al 49,500
03 Al 20 HI 1,000 0 1,000
OAIE =TI 1,000,000 1,000
= 500
Al 500
o HY MolASE X7 HHIAS 750,000 0 750,000
= 750,000
401 Al& Bl 28I 750,000 0 750,000
= 750,000
01 A& HI 749,000 0 749,000
O&a Hd MHAEX 7 HUIAY AANEHES
& 749,000,000 749,000
= 749,000
03 AIE 2 0HHI 1,000 0 1,000
OAIE =2l 1,000,000 1,000
= 1,000
Hog € s3I 330,880 202,880 128,000
< 35,000
Al 295,880
Mo s gat 191,800 63,800 128,000
201 L2l 61,160 61,160 0
01 At 22l 23,320 23,320 0
OXNgaHt EEHS =g MEA  40,000%652 2,600
OZxolithel dS0H=& M= 30,000x65%H 1,950




B A=

2 THol ¥ Mol
SRl WHNY 2 =R (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OXSHATHol Ol &8 225 +
750,000%23] 1,500
OXAHTHH e HEH.ZAH B2 &% 72
8,000%40H 320
O=¢g UH sEAY 3,000
—Zg g 222 MH 1,000%3, 0004 3,000
OgMay A A28 2 13,000%3E *504 1,950
OMHU ALY =XAMEH 20N M
2,750,000 2,750
OMMHKAEXNT & SS3AK SUAEX G N
tEt EX 2 B4 600, 000%5 3,000
OXHTLt2el aae 5 M 500,000%2H 1,000
OXIZ& Tlof g Z1Hl 500,000%4 1 At *23] 4,000
OX& IOlof ol 222 MAH 250%5,000% 1,250
02 =24l 37,840 37,840 0
OMMT2SEE 22&D 2SI FANES
30,000 122 360
Ooll RS2k SEEE ALY & ST
NEZ 40,000+ 122 480
OXZ&IIEE HEDl KX 22l 12,000,000%14) 12,000
OZgit Os% Az 10,000, 000 10,000
OSZ ALK A=D| |2 15,000, 000 15,000
202 O4dl 2,640 2,640 0
01 = LH 4 bl 2,640 2,640 0
OXATHEE AP OBl & AtEi==& (U]
20,000%4H x27 2,160
OMBTHESLHBE nEHA
60,000%2H x4 480
401 A& HI K 201 I 128,000 0 128,000
01 A& HI 128,000 0 128,000
O&gs I=0t2 =8 MoHRAE XD HHIAS
120,000,000 120,000
O=0ts Os% dXAd 8,000,000 8,000
Mt L Mol E=5=27 50,890 50,890 0
201 L4l 6,270 6,270 0
01 At 2t 2l 6,270 6,270 0
OMHALEY =& 22 S &l 2,230,000 2,230
OMY AHEOH A28 +¢ 200,000%73] 1,400
OMEALEH =& 4228 7¢ 400,000%33] 1,200
O AL CHEI & =2 HM & 60,000%120H A %23] 1,440
206 M= Hl 6,620 6,620 0
01 =4l 6,620 6,620 0
O==YXMH7 6,620




B A=

M THol ¥ THEHOIE
SRl WHNY 2 =R (S &2)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
— OO0t = & 300%3,4000H 1,020
— SO Y 8,000%4500H 3,600
— gy 20,000+1002 2,000
302 OI=UTHOH 2 & 2 38,000 38,000 0
02 QIZIITHOH R EFR &S E LS 38,000 38,000 0
OMHUE & S=S=2EH 244X A=
800,000x10H 8,000
OMXI&z X& 1,000,000%302t +* 30,000
MMt 28 A 25 13,800 13,800 0
201 YEt2 | 10,800 10,800 0
01 At 22l 6,000 6,000 0
OMHE 2K EZMA = 6,000,000 6,000
03 A2 Z Hl 4,800 4,800 0
OXNGXs8LME Al HMLs 2 4,800
—2AME 300,000%2H x23| 1,200
— 89 M 50,000%23| 100
-2 € 2E=2 M 5,000%350% *23| 3,500
301 getEd 3 3,000 3,000 0
09 SALAHIX A S 3,000 3,000 0
OXgXisdmst g5 XA 3,000
— ZMHHE S 2tg3 S A
8,000% 125 »23| 2,000
— gHctas ¥ ws &4 odl 1,000,000 1,000
Z=0 B8 NJAY 74,390 74,390 0
< 35,000
Al 39,390
201 Let24d] 72,950 72,950 0
< 35,000
Al 37,950
01 At 2teltl 2,950 2,950 0
O2=oll2&8 It 2t 218l 1,000,000%12] 1,000
OZ+o28 It 222 M= 1,500%900 4 1,350
OZxoll2E It 88 =2 MH
60,000% 1094 2 600
02 =224l 70,000 70,000 0
O2=d2d NN 22 70,000, 000 70,000
< 35,000
Al 35,000
202 Odl 1,440 1,440 0
01 2U0i b 1,440 1,440 0
O2Zdl28 2 ol 20,000%2H x6 L «63 1,440
TR e 6,047,579 6,820,399 AT72,820




AN AASEN
M UAZRSHE Gt 2el
chel: ot el (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
= 200,000
Al 5,847,579
ot & 22| 5,847,579 6,620,399 ATT72,820
ot& R Xl 22| 452,179 574,279 A 122,100
201 ¢er24| 16,379 163,479 A 147,100
01 At 22/l 9,000 156,100 A 147,100
Ostd AH=2F E&=+=2 500,000*10Z X 5,000
O=28d=X &9 M 100, 000* 104 1,000
Oota el =&l 3,000,000 3,000
02 =224l 7,379 7,379 0
Ootd KA &Zel =2 dIIR= 7,379
—ti+=E ¥ 82X 7,379,000 7,379
202 Od4dl 10,800 10,800 0
01 = LH o4 1l 10,800 10,800 0
O=JtX&at& 2l Aty =& 0 dl 10,800,000 10,800
401 AIEHI L 2 CHYI 425,000 400,000 25,000
01 A& HI 422,120 396,940 25,180
Ootd KRR 2l At 397,120,000 397,120
O=2=Y =8d Ex=3A 5,000,000 5,000
OfaEH =0 M ZHIA 20,000, 000 20,000
03 Al 2 THHI 2,880 3,060 A 180
OotE KRR 2CIAY A& 2 2,880,000 2,880
ot JI&d M &l 200,000 151,080 48,920
401 A& HIZ 201 I 200,000 151,080 48,920
01 A& HI 198,560 150,000 48,560
Odtd JI& M ZEHIAY 198,560, 000 198,560
03 Al 2 0HHI 1,440 1,080 360
Ootd JI8H EHIALY A2
200,000,000%0.72% 1,440
EREEYL 250,000 201,440 48,560
401 AIEHI L 20 250,000 201,440 48,560
01 A& HI 248,200 200,000 48,200
Ootd EIRE ELAY 248,200,000 248,200
03 AlE 2 THHI 1,800 1,440 360
Odtd EXE ZLAMY ANLRU
250,000,000%0.72% 1,800
AINAGHE ZHIALS (S EAY) 48,000 846,000 A798,000
401 Al HI X 201 48,000 846,000 A798,000
01 A& Hl 48,000 840,670 AT92,670
OIIA6HE HUIALS (M &) 48,000,000 48,000




SN QBT
M UAZRSHE Gt 2el
chel: ot el (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
BRI AGHE FHIAYE (MEALY) 1,297,400 1,805,600 A 508,200
401 Al I 2 O8I 1,297,400 1,805,600 A 508,200
01 A& Bl 1,292,729 1,799,099 A 506,370
OSAAGHAE HUIALY (&2 1,292,729,000 1,292,729
03 A& S THHI 4,671 6,501 21,830
OWMAASHE HUIAIY AlAR20HYI
1,297,400,000%0. 36% 4,671
H2AGHAE ZUIALS (EEALY) 3,600,000 2,500,000 1,100,000
401 Al I 28I 3,600,000 2,500,000 1,100,000
01 A& HI 3,590,280 2,491,000 1,099,280
OMZAGHA FHIALY (& &) 3,590,280, 000 3,590,280
03 Al 20 HI 9,720 9,000 720
OM=ActE HUIALY AlAR2CHYI
3,600,000,000%0.27% 9,720
St & & Hl 200,000 200,000 0
= 200,000
IOt SN2 ALS (4THZ) 200,000 200,000 0
= 200,000
401 Al Bl 28I 200,000 200,000 0
= 200,000
01 A& HI 200,000 198,560 1,440
O=2Jtotd SNEF=ALS 200,000, 000 200,000
= 200,000
MHREsS(tdES 20t 1,754,000 1,642,000 112,000
HEAHH K= 1,754,000 1,642,000 112,000
JI3NES 1,754,000 1,642,000 112,000
702 J)I3HEES 1,754,000 1,642,000 112,000
(RWIE=RSE—= 1,754,000 1,642,000 112,000
OoMgzelIa 8523 1,754,000, 000 1,754,000
SldHE 2 100,000 150,000 A 50,000
StEEE =&l 100,000 150,000 A 50,000
OIXlsS X 24 100,000 150,000 A 50,000
401 A& BIZ 201 8] 100,000 150,000 A 50,000
01 A& HI 100,000 150,000 A 50,000
OoX=s8XN 8 24 100,000, 000+ 14! 100,000




